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1. 8 4 @ 2 d ax®+bx+c<0 (& ax®+bx+c>0 & ax’*+bx+c<0
ax’ +bx+c>0) #H @it X y=ax’+bx+c<0(& y=ax’ +bx+c>0 &
y=ax’+bx+c<0#& y=ax’+bx+c>0)k 5 » T2 S xfr- ==
T FNE S S o Tt m 2 - S SR g - R
X HhE iR e

2. A =SB B AR NR & o T @Y - S SR
- LXK EN g

3. 4w - i Sficy =ax® +bx+C R E x b B aniE e % g i
o grdax’ +hx+CclE i T HcE S f Beh L B GE 2 o
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Stavy & Tirosh (1999)% 3% 1 en= + & @2 Pl (intuitive rules) : “More
A—More B” » “Same A—Same B” » 2 “Everything can be divided” - ¢t = =
% B¢ *More A—More B” 5 AP IR kT S IR nfE - L B 4 |/
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